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1.

Marian bought a new football helmet for $72.00. He
received a discount of 25% off the original price. (6.4G)

What fraction or decimal is NOT equivalent to 25%?
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D. 0.025

Which point on the number line below matches both
statements below? (6.2B)
“My opposite is 5.”

“My absolute value is 5.”

6-5-4-3-2-1012345¢6 7

Point M
Point A
Point T
Point H

o o w »

Which set of rational numbers is ordered from least to
greatest? (6.2D)

A {-2,- 3,07,

nlw
-

1 3

B. {5 =,—05, 40%)
1 2 5

C. {—3 75%, 3, 2)

D. {-025-01, 25%, >}

Which expression is equivalent to m + m ? (6.3E)
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9.

10.

11.

What is the value of the following expression? (6.7 A)
-80 + 10 — (-5) +1

S awp»
¢

If the ratio of the number of small dogs to large dogs at the
animal shelter is 9 to 5, which of the following is the
possible number of small dogs and large dogs at the animal
shelter? (6.4B)

10 small dogs, 18 large dogs
18 small dogs, 10 large dogs
15 small dogs, 32 large dogs

9 QW e

32 small dogs, 15 large dogs

Which expression has a value greater than m..v (6.3B)
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12.

13.

On the last school spirit day, 5 out of every 7 students wore
school colors. Based on this information, if 560 students
attended school, which proportion can be used to determine
how many of these students will wear school colors on the
next spirit day? (6.4B)

5 560
A S=2=
7 x
5 x
B. —=—
12 560
5 x
C. 2==
7 560
7 x
D. -=—
5 560

There were 180 people in a movie theater. 30% of them
received a student discount. How many people received the

student discount? (6.5B)

100%

0% 30%
0 ?
A. 70
B. 150
C. 30
D. 54

180
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18. Which graphic correctly groups the following numbers? 20. Alyssa will correctly label the numbers 48.4, Amw ,48.09, Amw

(6.2A) on the number line below. (6.2C)
34 2 3 12 R | | o
Rational Numbers Rational Numbers
A. 34 12 B. il Which number will be closer to 49?
Integers Integers
2 Jle A. 484
Whole Numbers Whole Numbers 1
3 -2 3 B. me
C. 48.09
D. 48
5
C Rational Numbers D. Rational Numbers
3.4
Integers Integers
-2 -l2 -2 34 -12 21. An engine is operating at 25% of its full power. Which
Whole ucauma Whole ﬂcsama number line shows a point that represents 25%? (6.4F)
A <——F——"F"F—F—"F—+—+—++>»
0 1
I T — >
19. Which of the following is NOT equivalent ﬁom:m.wmv ) !
C. _
< i ¢ t i —>»
A 4+6 0 1
B. 3 N
2 0 1
C. 64
D. 46
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